=EES N B
 mmam 3 Way Pilot Type Solenoid Valve
MNT‘_C\(%;;% WNAE(%\;H% TSM300S Series

PNEUMATICS

Common Specification (2 [&] #14& )

Fluid (i) Compressed Air, Inert gas(E4E= 5, 15MESE)
Eff Sectional Area (¥ &iER) 9.0mm?

Operating Pressure(ff £ 77) 0.15~0.7Mpa

Max.Cycles(& A L{ESAE) 8cls

Response Time(5bar)(/z RZE8]) 25ms or Less
Lubrication(iEi&) Not Required (T iEi8)

> Manual Override(FE&##1E)| Push Button (Standard)(#&4Az%) (¥ £),Lever Lock (§iE)
Power Consumption (E2 J73H3E) Holding-DC(#%4E) : 0.65W(24V:27.0mA/12V:54.0mA)

Allowable Voltage (& e EEZh38 ) Rated Voltage (8 € HJE)+10%
Ambient & Fluid Temp.(FER N FiRE) 5°C~60°C
Coil Insulation(4#&%xZF4) Class F or Equivalent(F£& sk #8RIZ&5)

*Please Use Tubine Oil 1st-grade ISO VG32#,If Required.
& REEEREERIET1SHISOVG32

How To Order (B! S £ =75

TSM3 1 3S- 5 LZ -M5-S
| — o — - L—

Solenoid Voltage Connection Port Size

Manual Override
z=R s 3] BE EBEAR BEOR FIRME
1 [Normally Closed(% i) 5[DC24V LZ [ L Type Terminal(LEERES) M5 | M5x8 Nil(z=)| Push Button (Standard)(&lizt) (5 &)
2 [Normally Open (& 7) 6[DC12V MZ| M Type Terminal(90°)(ME ) S | Lever Lock (#iz=t)
3 | Double(X )

Dimensions(mm)(%h 2 R < B(Z K))

TSM313S-00LZ TSM323s-0LZ

3-M5x0.8

17.0 (2—Port)

25

Red

£

15.0
11.0
o0 :w{é
&

145

Manual Button \ Manual Button \ﬁ

5 Black

T u|
=] <
[aV] — d poy [aV] — ~
& C% H = T @ g § ﬁ = ®
T
295
56.7 56.7
68.0 68.2
p 3
to) U N —
- 1 4R
3-M5x0.8
7.5|11.0 (1.3-Port)

$TETE 245




(%)
=
'_
<
=
>
wl
=
o

= EES B R
3 Way Pilot Type Solenoid Valve

TSM300S

Series

Dimensions(mm)(%h 2 R ~F B(Z X))

TSM333S-0LZ

TSM333S-OMZ

o 3-M5x0.8
= AARN (2-por) e
e[| s ]
=a—uint iRl Sunk =
9.0‘8.5 Black
Manual Buttor D Manual Butlo»\
s W\’ s } 1
- L — \
[q o [ I =
= =i E%ﬂ 5 == i — |
240 240
782 785
101.4 950
— Vav PR & Ay —
= oS5 1 &fﬁ\:) —
‘ 11.0 3-M5x0.8
- (1,3-Porl)
Manifold GL 37 #%) How To Order (B! SRR 7535
TSS3M 3 -20- 04 1
495
Series No. of Station
27045 Hole 4G1/8 %71 L EHE
— 10 (1.3-Pon)
% ‘ | 3| o : 3 [TSM300 02 |2 Valves
-g ® R4 [® o © s 03 | 3 Valves
S © ded9a 4 3 %] € 12 [ 12 Valves
= LT I ' § = o] 9
e [ I F= @ =S
L—=
170 | |
65 B=(16.0n48.0) 65 Blanking Plate
A=(16.0n+21,0) @
<=
Manifold Gasket
A,B : Dimensions(R ) n=Station (i )
o ——Station 5 3 4 5 6 7 8 9 10 11 12
B 40.0 56.0 72.0 88.0 104.0 120.0 136.0 152.0 168.0 184.0 200.0
53.0 69.0 85.0 101.0 117.0 133.0 149.0 165.0 181.0 197.0 213.0

2.46 “§TEEITE




